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['SECTION-1 |

Instruction for Q. 1. :

Ahmadabad, Feh. 15, 2016

. , - B . i in the Kutch
A eam of Indian and German scientists working near Bhuy 1n

: s i 5 = B ovx 2 . a1 ydai village.
region of Gujrat had found a big fossil of a dinosaur In hill in Lo i
o " RIS ~ skull. jaw, an
On Sawrday they found more fossils. The new fossils include skull, ]
. . Auni ermany
some teeth of dinosaur. A sample of fossils has been sent to Munich, G )

for further testing.

1. The above neéws tells us about.......

t1) The scientists (2) Ahmadabad

£3) Germany (4) Dinosaur fossils
2. Compleie the dizlogue with correct option.

Meena -2 1 am gening ........... It's too cold here.
Mother-: Don't worry dear. T'll bring sweater for you.
(nH

Bored (2) Confuscd

{3y Tired (4) Chilled to bone

3. Choose the correct option for the following slogans.
The following slogans are about........

— Who will keep it clean, if you don't _
1
I grow plants not mu-gmﬁ_

* Don't spoil, don't %:WI ? 4

_ Keep your arca clean and beautiful, _

{1y Eanh (2) Education (3) Environment  (4) Cleanliness
0422/ Gujarati Set-A 2of32 P.T.O,

Instruction for Question No.- 4-6
oplion.

¢ Read the passage and choose the correct

Kabir was one of the great personalities in the history of our country. He lived
hundreds of years ago. but his poems and teachings are sung with love and
reverence cven today. Hindus, Muslims, Sikhs, all think of him as a great Guru,
teacher and religious figure. Kabir taught people devotion and humility. He wrote
couplets and (dohas) and short poems. Though his compositions are short and
simple they convey profound meaning and wisdom.

4. Choose the correct option.

The passage tells us about.......
(1) The history of our country
(2) The information about Kabir-a saint poect
(3) The &5.22 religion

(4) Kabir's childhood

5. Which 'Hindi' word is mentioned in the passage?
(1) Sung
(3) Doha

(2) Figure
(4) Ago

6. Complete the web by choosing the correct word.
_ ? I Kabir's OocdﬂnﬁmlIw:o:#

(2) Reverence

(1) Love

(3) Devotion (4) Profound meaning

1 W 4
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7. What is the mood in the following short-note ?
Choose the correct option.
I'm always there in your hour of need.
May histher soul rest 1 peace. Words fall short to express my SOOW:

(1) Happy
(3) Sad

(2) Surprise
(4) Wonder

8. Read the following procedure and choose one correct alternative.
These methods are used for .........

Soaking

Grinding

‘ermenting

(2) Making idilis
(4) Making desserts

(1) Washing cloths
(3) Making rotis

9. Read the following riddle and choose one correct option.
I'm tall when I'm young.
I'm short when I'm old.

What am 1 ?
(1) Tree (2) Candle
(3) Egg (4) Stick
0422 / Gujarati Set-A 4of32 PT.0.

Instruction for Question No. 10-11 ¢ Read the passage and choose the cosrect
option,

Grate a couple of medium sized bectroots and soak them in a little water. After
a while, you will get a beautiful dark pink-red colour. Add it to a bucketful of water,
The red jaswand (hibiscus) flower will give you a deep red colour. Dry the petals
of Zendu (marigold). Then you can powder them to get an orange colour. Even
you can dry the leaves of neem, mint, cornander, spinach o get a dry green powder.
If you crush or grind the fresh leaves you get dry colours and if you add the paste
to water, you get wet colour, 5o talk to your mother to find out what other things
in kitchen can give you safe natural colour. [et's celebrate kol with natural colouar,

10. Match the pairs.
A B

(1) Jaswand (a) Pink-red

(2) Spinach (b) Deepred
(3) Beetroot (c) Green
(4) Marigold

(1) 1-d; 2-b; 3-a; &-¢

(d) Orange
(2) 1-b; 2-a; 3-c; 4-d
(3) l-¢c; 2-d; 3-b; 4-a (4) l-a; 2-¢; 3-a; 4-d

11, Choose the correct option for the correct title to the passage.
(1) Colours
(2) Celebrate holi with natural colours
(3) Celebration

(4) Festivals are colourful

0422 / Gujarati Set-A Sof 32 P.T.O.
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12. Choose the correct altemnative. . 14. Go through the following diagram and choose correct altemnative.
Hrishikesh was awarded as a ‘best student of the year”. Fin ] 5

which suits him. The mother asked if The mother asked if
1 could saw the rainbow. he could see the rainbow.

out three adjectives

-
=
Q
=
(4]
(7]
-

The mother said
"can you see the

[

D]
o
-
-

p rainbow?"
vic|d|blold|h
3 4
e|s|m|p|d]|b|q The mother told that The mother menm. if
he could sec the rainbow she can see the rainbow
(1) Good, honest, brave
(1) 4 2) 1
(2) Big, quite, bad 3) 3 @ 2
(3) Calm, nest, ago
?.u Big, tall, ball 15. Find out one correct alternative of type of tensc of underlined word.
’ ' When a farmer was returning home from the market, dark clouds gathered in
. the sky.
13. Choose the correct alternative from the following. .
(1) Simple past tense (2) Present continuous tense
(3) Past continuous tense (4) Future continuous tense

16. Choose two correct alternatives for the following sentences which shows correct
object and its active voice
(1) The sun is not as hot as tea : My toy had been taken away.

(2) The candle is hotter than fire (1) ity sisten had taken avpy my loys
(2) My sister has taken away my toys

(3) The fire is hotter than candle _

h (3) My sisters had taken away my toys
(4) The candle is hotter than sun

M (4) My sister taken away my toys.

SPACE FOR ROUGH WORK SPACE FOR ROUGH WORK
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17. Choose comrect aliernative.
If where: place. why: reason then when:..........
(1) Quantity
(3) Manner

(2) Suggestion
(4) Time

18. Choose the odd man out. Choose one correct alternative.
| 13
v v v v o
& & ® @ @
19. Choose one correct alternative of the following.
Last weck grandfather wanted to visit Kashmir. He booked tickets.
(1) Noun (2) Verb
(3) Adverb (4) Adjective

2) 4
“4) 2

20. Choose one correct alternative to form exclamatory sentence.
a / what / dream / it / horrible / is !
(1) What a horrible dream it is! (2) What a drcam horrible it is!

(3) Tt is what a horrible dream! (4) What it is a horrible dream!

21. Choose the correct alternative. Find out the word which has not suffix.

© |®

Subscription]  Mention

©) ®

Description

(1r4
(3) 3

() 2
“ 1

Prescriplion

-

0422 / Gujarati Set-A 8 of 32
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22,

23.

24,

25.

Choose two correct alternative from the following.
Dinosaur were reptiles. There were many different types of dinosaurs. All

dinosaurs did not look.............

(1) Different (2) Similar

(3) Unlike (4) Alike

Read the following sentences. Choose the correct alternative.
When Mr. Yadav gets back from his office, he expects his servant to have a
hot meal waiting .............. him.

(2) At
@) of

(1) For
(3) From

Choose correct alternative from the following options.

Which word is related to 'eye'?

(1) Cite (2) Site

(3) Sit (4) Sight

Choosc the corrcct alternative from the following options. Find the correct

phrase.

Viraj is very good at Maths. He is a good singer. He is the champion of cricket.

1S tiiiiinnnannns -

He loves swimming. He

(1) Very brave (2) Jack of all trades

(3) Good at studies (4) Good friend

SPACE FOR ROUGH WORK
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SECTION-II
INTELLIGENCE TEST

26. Form a meaningful word from the letters PTECSIROIND G,w.n numerals w_. 25
...... for every letter. Find the correct option from the following that makes a
meaningful word from the word so formed.

(1 7,5 1 (4) 2, 4, 5

(2)3, 1, 2 (3)5 2.1

27. From the given alphabet series, choose the pair from the given options, which
is at an equal distance from the 11th letter from the right. [select two correct
alternatives|

(1) D, R 4 P, F

(2)F, X 31T
Q. 28 and 29 Directions : Study the following number series and answer the

questions that follow :

uuubwmwuwmhmnbwwwwm\»w_muhmmwmawu

28. How many times an odd number is immediately followed by an even number
but not preceded by even number.

(1) Six (2) Four (3) Five (4) Seven

29. In the given number scrics, which number has occurred highest number of
times ?

() 4 23 32 4) 5

SPACE FOR ROUGH WORK
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INTELLIGENCE TEST
26, 1 A%l ol uld wateedl A2 udl widugdl aeguis su SHiElet Mzal uzsl * es * weLddl
sigeud #oe Az ud?

(1) 3% 5 (2) 3%t ) (3) 42445 (4) 1Ad 2

27, szl gl o) wifmzHl steedl Usa #idd sudar sadld Al 557 (& o1yz uslx
#ilell)

(1) DR (2) EX 3) LT (4) B F

28 ol 20 WY Ll vzl LAl o 53l
23342532354214233254215342532423

28, BN BISHIUHL @M zivau Ul ded o wd wiva § ust d B 2lva wZe dad o wa wivul del)
Aq beclar oledf B2
(n » (2) <R

(3) uia (4) =ud

29. 2l visuani s »iz el ay a2 2ucl B?
(1) 4 2 3

(3) 2 ) 5

0422 / Gujarati Set-A 110f32 P.T.O.
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.. . - - sinele represents
Q. 30 and 31 Directions : In the following venn diagram. triangl 4 u_.nmn_:m
- S i < —nn
dactors, circle represents farmers, hexagon represents authors and quadrilateral rep

carpenters.

30. Which of the following options indicate carpenters who are farmers.

(1) JKLI () IEFG (3) EFDC (4) HCLM

31. Which of the following letter indicates doctors who are only authors.
(1) K 2) A
Gy M (4) None of the above.

32. Find the position of the 7th letter which is to the left of 12th letter in the given
alphabet series. [select two correct options]

(2) 21st from left
(4) 5st from left

(1) 21st from right

(3) 5st from right

33. 150 streamers of different colours are arranged in a garland. The colours ».o:wi
a specific sequence, red, yellow, green, blue, violet, white and orange. Which
of the following option will not carry violet coloured stream ? [select the correct
alternatives]

(1) 68 (2) 89 (3) 115 4) 94

SPACE FOR ROUGH WORK

-v .
0422 / Gujarati Set-A 12 0f 32 PT.O
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WH 30 2t 31 12 eyl Aot BusRuden Roged stses,
eelleay &,

Aol Wgd, weslend Aus A rend e

30. Wl 520URL YR 5AL viaRell ealca D2

(1) JKLI 2) IEFG (3) EFDC (4) HCLM
31,85 Avlel 5 SI522 5L 2arell coalcn B2
I K @ A @) M (@) \Sugl «&

32. EHUAUA UL AARAL Stoll cuyAell W 2eRe weutel valdmiel el (A wys wala Ad)

() sl ouyell Asclaw] @) stoll cusyel Asdlawg

(3) sl ousyell wi=p| (@) stoll ouspell uiawy

33. 95 dad wqsd cue, Mo, dledl, ated, Modl, e A 2l A wudl 150 uw Vel d A
ualalaiell s suis uR Motdl a0 4 A8 A2 (A viys ualal 2l

() 68 @) 89 @) 115 ) 94
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34. Akshay is younger than Vishal by 125 days. Akshay

is born on Saturday. 13th

Aug. On which day was vishal born ?

(1) Sunday, 10th April

(2) Fnday, 16th December

(3) Sunday, 9th April

(4) Thursday 15th December.

35. Find the number of quadrilaterals in the given figure.

(h 12
3) 17

2) 8
“) 14

36. In the following scrics, determine the rule and find out the term in place of the

question mark.

(1) 18
(3) 26

faz
DHDE

() 21
) 23

0422 / Gujarati Set-A

14 0132 P.T.0.
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34, Roned S2d et 125 Bat el B, N e v 13 23tRe, R 220 QAU d Qauad ve

s Rad) ad sel?
(1) 10 AR, QU

(2) 16 BRAR, gsar

(3) 9 ARe, 2R

@) 15 B0, AP

35.007pHi 2N PUFRHL AGP8LAL ge w20 Yedl &2

m 12

@) 17

2 8

@ 14

36. aivaud 1iseld 2 AL WHReAl e ARt ul aaed.

DDDD
&/ \ae/ 17/ \ 2/

(1 18

(3) 26

@ 21

) 23

0422 / Gujarati Set-A
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en below

. . : i . ¥ s giv
Q. 37 to 39 Directions : Identify the rhythmic arrangement of terms g
and find the comrect term in place of the question mark.

3.MSTUNUNMSTSTUNMNMST???2NMS
() UTU (2) STM (3) UTS (4) MSU

38.42571868175234257182752?271757?

325 @ 1,57

(1) 1, 8 7 )2, 5, 7
39. O*A+0Ox *0A+xO0O*xA0x+0?77? +0O

(1) »0O x4 (2) A+ x0O

(3) »ax(0 (4) *A+0O

40. Pramod’s present age is double of Amir’s present age. Pramod is younger by
2 years than double the age of Sarvesh, but Harshal is elder by three years.
Krishna, who is elder by three years than Harshal was 14 last year. If these are

arranged in ascending order of their ages who will be at the center ?

(1Y Pramod (2) Sarvesh (3) Krishna (4) Harshal
41. In 2 cenain code language *SOON" is written as ‘OOSN’, ‘APPLE’ is written

as ‘PPALE’. then how will you write ‘TEETH' in the same code language ?

(I) EETHT (2) ETTEH (3) EETTH (4) EHTTE

42. A bus started at 6.40 a.m. travels at a speed of 45km/hr. At what time it will
reach another place which is at a distance of 375 km ?

(1) 2.55 p.m (2) 3.00 p.m (3) 3.05 p.m (4) 2.50 p.m

SP

0422 / Gujarati Set-A 160f32 P.T.O.

[ ABCDE | FGHIJ | KLMNO | PQRST J UVWXY |

g 37 el 39 M -l WA ddotg Miseluial udel s1 U vl URRLs A 2 DUAD UE
vafadxiel #dd.

SZIMSTUNUNMSTSTUNMNMST??2?NMS

() UTU () STM (3) UTS () MsU
384257 186817524257182752271757?
n L 8.7 @) 2,57 @) 1.2.5 1,57

V. O*A+O0O X *O0A+X O *AO0X+0O 7?7 +0O
(2) Axx0O

4) »A+0O

(1) xOxa
(3) »Aax0O

40. 200R steell GHR 53l urledl BuR oigll B, ATetdl Grrelt otxgu scl wHleell Gur A ,&m =8l
&, edet agt @ WA &. eet sodl A5t afell et grgtell s adell Gz 14 ad Sa A 2ud e

Agell 51 VAR <A 96l &9?

) eda

(1) we (2) adea (3) 5%t

41,25 AUBAS oUNML * UtUA ACE’ UALEHL V3 AL B, * UL §oe” AR M cAvuA B A A
CUNIML * wRuALL * 2oe Sl A dArad?

(1) drvueut (2) oluaw (3) <oyt (4) sileuuy

42. R 640 wd Q2L scuset 45 Ballow AN sl ol 375 Gall. ol vidd dudet dw Sed wd
yslad?
(1) «dl 2.55 sl (2) el 3.00 adl

(3) Y 3.05 cwdl ) ord? 2.50 @l

IGH W <

0422 / Gujarati Set-A 170f32 P.T.O.

Scanned with CamScanner



[ABCDE| FGHIJ [ KLMNO | FQRST [ UVWXY]

Q. 43 to 47 Directions— In each of the following questions, reletion between 3rd
and 4th term is the same as that of between the first and the second. Find the term

to replace the guestion mark.

43. Egual : Congruent : : Characteristrics : ?

{Select two correct alternatives)

(1) Feammres

44. ﬂ..muﬂ”IuO“uw&nu“w

(1) KCI

(2) Personality

(2) NaOH

(3) Properties

(3) NaCl

[Select two cormrect altermnatives])

(2) 512 (3) 146
46. MOQ : PRU - : 2 : NPS
ay Gwy 2) KMO {3) JHF
E I ] . * f
i 7 ,M- \\,\\l.//' ‘obb o _
N ‘_-__N,,/.\h._.._ ? . :U_
= U =
i\ == | 1I~4 | | m ﬂﬂl.‘. w
<= IR A (37 |
—_ | o= i 1 >
=% R 1 { !
AR AREARE A
nH.,. ~”\ a\..\.b\.\ u\l\iu

*

*)

%)

terms

HCI

JLP.

EPLCL FOF POUCE N OFE

e ——

VEZZ | Cavgrse St b

P
< 27
P

P10,

[ ABCDE | FGHIJ | KLMNO [ PQRST | UVWXY |

s 33 6] 47w
ad walx Al

| 43.3HeL : VEH 1 2 S

(A wige ualy #id)
() &1

-

(1) KCL

S.233 ;430 - 341 :

-

ueel ooiy wdond A usdl RAea ue A A ¥ ek

|

2) 2 3) «&

Auwel: HO:: #j::7?

(2) N20H 3y N2

(el sums uA: FHEL)
.AV.\.Au...nr.r»mr.r\.

LS

(1) 360 @) 512 (3) 125
46 MOQ :PRU:: 2:NPS

(1) UWY {2) KMO {3) JHF
3

I

O
y
—
o]

2

-
\(E]

1)

2l nnBad 28a

(4) a3t

{$ HQO

{(£y AP

Py

b s et

et S A
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Q. 48 to 50 Dircctions :

Study the following Pyramid.
25

ws4g o 50 1 Al A Yl

25
36 33 v 36 33
20 38 14 20 38 14
32 35 24 12 32 35 24 12
13 26 22 31 21 13 26 22 31 21
17 37 19 29 16 30 17 37 19 29 16 30
18 27 11 34 23 28 15 18 27 11 34 23 28 15
48.20 32 26 : 31 24 14 :: 32 13 37 : (A 2iys vl ad)
48. 20 32 26 : 31 24 14 : : 32 13 37 : ? [Select two correct alternatives] I
(1) 29 31 24 (2) 29 22 24 (3) 12 31 16 ) 2
(1) 29 31 24 (2)29 22 24 (3) 12 31 16 4) 16 31 12
49,1327 :1929::3519:7
49. 1327 :1929::3519:°?
(1) 3121 () 2231 3) 21 31 (@) 29 16
(1) 31 21 (2) 22 31 (3) 21 31 (4) 29 16
50. 18 27 37 19 34 7 ? 30 50.18 27 37 19 34 7 7 30
(1) 29 23 (2)23 16 (3) 29 16 (4) 23 28 ” (1) 29 23 (2) 23 16 (3) 29 16 (4) 23 28
i . : 51. U5 Qe 20l WL ualasiel 2ld.
51. Identify the mirror image of the question figure when a mirror is held as shown
in the diagram.
Question Figure  Answer Figure
1) @) 3 )
{
|
(1) (@) (3) 4) m.
SPACE FOR ROUGH WORK SPACE_FOR ROUGH WORK o
|
i
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e ) .
52. Find out the rule underlying the arrangement of numbers in the following
question and choose the correct alternative that will replace the question mark.

(1) 30 (2) 36 (3) 33 @ 77

L 8 5 i i i
MW . 3 ncauq Direction—- In ed.o following series, determine the rule underlying the
series and find out the term in place of the question mark.

53. 2, 6, 16, 38, 84, ? 368

(1) 176 (2) 168 (3) 186

s . DN AVUASAQLOHEAR] ? »
o AQD @ Q) A »AD . @ AO

55. BC, CF, EI, GL, KO, ? QU.
(1) MS

4) 178

(2) NR (3) MR 4) OR
56. 2, 9, 40, 153, 450, ?
(1) 889 (2) 891 (3) 900 4) 879
57.
- \
AR YRR
(o2 ﬁ =) éA
%
(1) ) (3) (4)
- SPACE FOR ROUGH WORK
0422 / Gujarati Set-A 220f 32
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52, eivaudl wisgle A ALl s Red 2eud zuad wal dd.

(2) (4) (D (3)
O OJOEIONOHONOHO,
(&) © O O

(1 30 (2) 36 (3) 33 @ 77

Wat: 53 el 57 itsi M BqRUR Bl Wi Rbdl Relleld] ue wlaHiel sl
53.2, 6, 16, 38, 84, ? , 368

() 176 2) 168 (3) 186 (4) 178

“ONAPUASOAQIIOHAR] ? °
v AD oA oA ©AD

55.BC, CF, El, GL, KO, ?, QU

() MS (2) NR (3) MR 4) OR
56.2, 9, 40, 153, 450, ?
(1) 889 (2) 891 (3) 900 (4) 879
57.
O < U
Al =)
P | |<<]| |<d| |3
Z ,
1) (2) 3 )
SPACE FOR ROUGH WORK
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Q. 58 and 59 Directions- A, B, C, D, E, F, G, H are the eight boys standing in
a circle facing each other, at an equal distance. D is standing next to A to his right
and E is in front of him. B is standing next to H, to his right and is in front of
G. In front of C, 1o the south D is standing; but F is not next 10 D.

58. Which direction H is facing ?

(1) North-East (2) South-West

(3) South-East (4) North-West

59. Who is standing to the East ?

(1) C 2)B 3) G “4) H

Q. 60 and 61 Directions— In the following questions a question figure is given,
Identify its water image from the given alternatives.

60. Question Figure  Answer Figure

1457 [a53]sy[wez] 4Ry

(n (2) (3) (4)

61. Question Figure  Answer Figure

TIA| |t |2 | Attt | FPER

n @ (3) (4)
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W 58 A4 59 wp: As afouer doadl

oy o 200 Gow B, A 2 Al gl ousy dad of * S

gl L, o, 8, S, 6, § 3L o WM vls suntdl et »idy vigzedl

.ﬁp Al S Gl B, et B "y .c oyl

oy dad o D 2 o7 Al 2L D, ¢ 57 ol 2wl el ¢ 5 Gel D ougtt s ol usel c 5 T adl
58, " ol 20l Bou 56 B2
(1) Seud (2) At
(3) #Gx (4) U=
59, yd Qwuni £t Gloj »7?
M s (2) «
(3 2 ) «
Wt 60 A 61 M WausAef welni wREGEL celad waulz dd.
60. umel 2SR raotdll 2u5R
|457] <50 |0y <L) <2
@ 3) @)
6l usel 2us@  ereptell 2ugl
(€] 2) (3) 4)
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Q. 62 to 66 Directions— Find the odd term. wst: 62 ol 66 1L e vit Aug « A A ue A
62. (1) Hour-our (2) Cloth-clothe A0S @ s
(3) There-their (4) Seen-scene ,. (3) te @ =
63. (1) 327 63.(1) 327 (2) 844
B ”d“ m.u.u Mw MMM i 3) 532 @ 627
64.(1) Hecll - An @ vl - ulda
- M“ H&m%”“ﬂﬂ York Mw MM“H_ Ng.m_w”n:: w (3) 2ARsldL 2(Ysd el A5 @ SE-3A
_~. 65. (1) ADH (2) RVY
65. (1) ADH 2) RVY o o -
(3) KNR 4) FIM | ,
|
IRCHCIONE
]
” () @ 3) (4)
() ) () 4) . 67. N5 Lletell W35 Q1oL BRR O, O, A, *, B, ¥4 © Rle da Al ARy cuyd A eoldl B, Bl

_ el urs ool w2 A2 A RAD N valalui eoldl &, Anial s valall AAA A 2w~
kel Y3 ouat GuR 2udd Adl?
67. Different Faces of a cube with symbols OO, O, A, *, X, and © are given

below. Symbols on opposite faces arc given in the alternatives. Which alternative

v K O
shows the symbols that are not on the opposite faces. . O X O 0 ® ® A
A = * (@)
ol® |[x« B |o|® |x|a () O =2 O @) A n) % G) B2 O @ Ol W
(1) O and O (2) A and * (3) X and O 4) O and X
i
m
i
w
iarafi Set- 27 of 32 P.1.0.
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68. From the following number series, find the odd term.
12, 15, 20, 23, 28, 34, 38, 45

(1) 34 (2) 20 3) 28 4 45
Q. 69 and 70 Directions— In a certain code language ‘I cat chappati’ is written as
BAN. ‘I sell books” is written as CNO and ‘Amar reads books' is written as OBM.
Then.
69. Which letter is used for the word ‘sell' ?

() N 2)0 3) C 4) A
70. Which letter is used for the word ‘1" ?

(1 B 2)C 3) o, @ N

Q. 71 and 72 Dircctions—Choosc the correct figure from the alternatives which
cxactly matches with the question figure.

71. Question Figure

72. Question Figure

Answer Figure

PP PP

m @ 3) “4)

Answer Figurc

\Y-
1 (2) (3) (4)
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68, elvanufisie] vedoa ug uaiaduidl dal.
12, 15, 20, 23, 28, 34, 38, 45
(1) 34 (2) 20 (3) 28 (4) 45

wat6 el 70 0% As wibRs owued ¢ Bél wuly’ v asu BAN Bl dvud _ow., § wus ol 9
alsel CNO UL (o §, slol *oie oum vua B wiL asd OBM 20 v 9,

ol
6. *oto(d’ Wil etor WY 520 wiBAS ey el H7

() N (2) O (3) C “4) A
70. 4" Wl noe w53l b5 vl wuel B2

) B @ C 3) 0 (4) N

w7l el 72 s ua w5 wud 2udgel 1A Adl 2ugR walaied Al

71 usell 2ugld raotell 245

PP\ D|P

(1) (2)
72. 04l 2u5Q araotdl 2ugl
@@
@) | ©@OE
n (2) 3) “4)
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73. A squarc sheet of paper is folded and cut as shown in the question figure. How

will the figure look like when the paper is unfolded. Choose the correct
alternative.

74. Find the hidden part of the question figure from the alternatives given.

SE

(1) ) (3) 4)

75. Choose the correct alternative to complete the question figure.

VP By @

N
]
(1 (2) (3) 4)
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73. us 2usRet st Adl A A AR wraulel snal ©. A s Al e udl 58 wusA

3l boudl? o

_||l|l ==y

T\?-..m

74, uat 2usRHL owdel oudl yalaodel .

2u5(d

=2 3

(1) 2) 3) (4)

75. 2 el 2uysl waus@ ysl sacu wd 2Aoe val el

gl
Em v o
Q)] ) 3 4)
SPACE FOR ROUGH WORK
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